SplashlLearn

Halloween Addition

Solve the following word problems.

If Jack has 2 halloween candies and his friend
gives him 3 more, how many candies does Jack
have now?

Mike bought 2 halloween balloons. His sister gave
him 2 more. How many balloons does Mike have
now?

Mia baked 2 pumpkin pies and 1 apple pie for a
halloween party. How many pies did Mia bake in
total?

Emma has 3 halloween stickers. Her friend gives
her 2 more. How many stickers does Emma have
now?

Emma has 3 halloween-themed books. She bought
2 more. How many halloween-themed books does
Emma have now?

Lucy found 2 halloween masks at the party. She
found another 2 at home. How many masks does
Lucy have in total?

Mike has 1 halloween pumpkin. He buys 4 more.
How many pumpkins does Mike have now?

8 Anna has 2 halloween candies. She buys 1 more.
“N ) How many candies does Anna have in total?
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